=
<

a(o @) (rad)
a(d cot(d))

107 Y=

107

1072

1.4

1.05-

-

e}
Fl
)

I
Ratio

0.95F-

=
T T

+

$

+

=

> o

¥

+

T

T

+

=
T T

=

M

T

*

+

=3¢

o

u

r

" H : H i 1 1 (| |44 1
-2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100

—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

1

=

SICEWACL
oloa) (cm)

H
S
L

107}

o ik I olOE%_""i""""'i"""""""
kS E L i g E ] | i | |
e M : ] | b o L MIETTIE M TR
1:_ v .. L Ed M4 £ 14 4- E
09;—-- : : . : 15—- a r- -1¥ -Em ‘m-g- -4 Iﬂ) : L444- - -
0832 -1 0 1 2 3 093" 1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
s 1 .
E_ N
"
o
e
5
107t
g i)
T F . 1
hd 1:—- b4 I tas | " “ﬂ 4 1 [4-
0.95—- ' |
= S R B

TP n (PCA- to beamline)



	Contents
	Page 1


